* n § Multipliser desimaler med ti

StudentName: __ ExamDate: __ ExamScore: ____
8,352 x 10000 = 9,098 x 10 =
5,954 x 10000 = 8,604 x 10000 =
6, 546 x 100000 = 2,702 x 100 =
3, 14 x 100000 = 3,164 x 10 =
5,273 x 1000000 = 10,221 x 100000 =
9,162 x 1000 = 8, 108 x 100 =
5, 121 x 1000000 = 8,484 x 100000 =
9,127 x 1000 = 2,525 x 1000 =
9,893 x 1000 = 1, 168 x 10000 =
10,009 x 100 = 2,124 x 10 =
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i n ,§ Multipliser desimaler med ti

StudentName: ExamDate: __ ExamScore: ____
8,352 x 10000 = 83520 9,098 x 10 = 90.98
5,954 x 10000 = 59540 8,604 x 10000 = 86040
6, 546 x 100000 = 654600 2,702 x 100 = 270.2
3, 14 x 100000 = 314000 3,164 x 10 =31.64
5,273 x 1000000 = 5273000 10,221 x 100000 = 1022100
9,162 x 1000 = 9162 8, 108 x 100 = 810.8
5, 121 x 1000000 = 5121000 8, 484 x 100000 = 848400
9,127 x 1000 = 9127 2,525 x 1000 = 2525
9, 893 x 1000 = 9893 1, 168 x 10000 = 11680
10,009 x 100 = 1000.9 2,124 x 10=21.24
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